RESEARCH

Open Access

Insights into risk factors for urolithiasis: a mendelian randomization study



Shusheng Zhu¹, Yanpeng Fan², Xia Hu³ and Mingming Shao^{1*}

Abstract

Background Risk factors for urolithiasis have not been identified. Here, we aimed to identify potentially causal risk factors driving the risk of urolithiasis.

Methods Two sets of instrumental variables were used for analysis, derived from publicly available databases. Summary-level statistical data for urolithiasis were obtained from the MRC-IEU Consortium and UK biobank (Neale Lab). Mendelian randomization (MR) was conducted to identify causal risk of urolithiasis. Finally, the results of the two databases were combined and a meta-analysis was performed.

Results In the MRC-IEU consortium, the odds of urolithiasis increased per 1-SD increase of body mass index (BMI) (OR = 1.0016, 95% CI:1.0004–1.0029, p = 0.010), triglycerides (OR = 1.0016, 95% CI:1.0003–1.0029, p = 0.017), adiponectin (OR = 1.0027, 95% CI:1.0003–1.0050, p = 0.024), and body fat percentage (OR = 1.008, 95% CI:1.0001–1.0161, p = 0.047). In addition, alcohol intake also increased the incidence of urolithiasis (OR = 1.0030, 95% CI:1.0009–1.0051, p = 0.005). In the UK biobank, the odds of urolithiasis increased per 1-SD increase of waist circumference (OR = 1.0215, 95% CI:1.0061–1.0372, p = 0.008) and body fat percentage (OR = 1.0239, 95% CI:1.0043–1.0440, p = 0.020). Surprisingly, we found that the risk of urolithiasis decreased with increasing hip circumference (OR = 0.9954, 95% CI:0.9915–0.9992, p = 0.017). In a meta-analysis of MR results, higher BMI (OR = 1.0016, 95% CI:1.0004–1.0027, p = 0.009), waist circumference (OR = 1.0073, 95% CI:1.0020–1.0126, p = 0.007), adiponectin (OR = 1.0026, 95% CI:1.0008–1.0043, p = 0.004), triglycerides (OR = 1.0015, 95% CI:1.0004–1.0026, p = 0.008) and body fat percentage (OR = 1.0104, 95% CI:1.0008–1.0043, p = 0.004), triglycerides (OR = 1.0015, 95% CI:1.0004–1.0026, p = 0.008) and body fat percentage (OR = 1.0104, 95% CI:1.0008–1.0043, p = 0.004), triglycerides (OR = 1.0015, 95% CI:1.0004–1.0026, p = 0.008) and body fat percentage (OR = 1.0104, 95% CI:1.0030–1.0178, p = 0.006) increased the risk of urolithiasis. Furthermore, alcohol intake also increased the incidence of urolithiasis (OR = 1.0033, 95% CI:1.0012–1.0053, p = 0.002).

Conclusions Our MR study found that higher BMI, triglycerides, waist circumference, adiponectin, body fat percentage, and alcohol intake increased the risk of urolithiasis.

Keywords Risk factors, Mendelian randomization, Urolithiasis

*Correspondence: Mingming Shao zss819030669@126.com ¹Department of Urology, Jining No. 1 People's Hospital, Jining 272000, Shandong, China ²Department of Urology, The First Hospital of Jilin University, Changchun, Jilin, China ³Department of Geriatrics, Jining No. 1 People's Hospital, Jining, Shandong, China



© The Author(s) 2023. **Open Access** This article is licensed under a Creative Commons Attribution 4.0 International License, which permits use, sharing, adaptation, distribution and reproduction in any medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons licence, and indicate if changes were made. The images or other third party material in this article are included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material use, you will need to obtain permission directly from the copyright holder. To view a copy of this licence, visit http://creativecommons.org/licenses/by/4.0/. The Creative Commons Public Domain Dedication waiver (http://creativecommons.org/publicdomain/zero/1.0/) applies to the data made available in this article, unless otherwise stated in a credit line to the data.

Introduction

Urolithiasis, especially kidney stones, is a common disease in urology. Research in recent years has shown that the incidence of urolithiasis has increased not only in Asian nations, but also in European and American nations [1-3]. For patients with urolithiasis, it can be painful and even lead to chronic kidney disease, and the cost to the health system and the economy can be very high. Therefore, it is necessary to identify the factors that cause stone disease to prevent or reduce the incidence of the disease.

Numerous studies have shown that urolithiasis is associated with obesity, hyperglycemia, dyslipidemia, and hypertension [4, 5]. Some researchers believe that smoking has an effect on the development of urolithiasis [6]. However, other researchers believe that there is no reliable evidence that smoking affects the occurrence of urolithiasis [7]. There is still disagreement on the effect of alcohol intake on urolithiasis [6–9]. A meta-study showed that blood lipids also have an impact on the pathogenesis of urolithiasis [10]. However, due to possible limitations in observational studies, such as residual confounding and other biases, whether these associations are causal remains undetermined [11].

As a rising method for causal inference in epidemiology, MR has accomplished extraordinary success in finding risk factors for disease [12, 13]. It uses randomly assigned genetic variants as instrumental variables(IVs) to estimate the causal effect of exposure on outcomes and can reduce bias due to confounders or reverse causality [14].

Finally, we included 14 major risk factors, both established and controversial, to explore their causal relationship with urolithiasis by using MR.

Materials and methods

GWAS summary statistics of exposures from Consortium and UK biobank

Summary statistics of 14 predominant risk factors from an open website(https://gwas.mrcieu.ac.uk/). Developed at the MRC Integrative Epidemiology Unit at the University of Bristol, genome-wide association study (GWAS) summary datasets can be downloaded from the website [15, 16].

We extracted IVs of anthropometric traits from the MRC-IEU consortium and Neale Lab. For BMI GWAS, they included 454,884 European individuals and 9,851,867 single nucleotide polymorphisms (SNPs). For waist circumference and hip circumference GWASs, they included 336,639 and 336,601 European individuals. For body fat GWAS, they included 331,117 European individuals and 10,894,596 SNPs.

GWAS lipid profile data includes four lipid phenotypes: total cholesterol, high-density lipoprotein cholesterol (HDL), low-density lipoprotein cholesterol (LDL), and triglycerides. For triglycerides and LDL GWASs, they included 441,016 and 440,546 European individuals. For total cholesterol and HDL GWASs, they included 187,365 and 187,167 individuals.

The GWAS summary statistics of smoking and alcohol intake were obtained from the MRC-IEU Consortium. For smoking GWAS, they included 424,960 European individuals and 9,851,867 SNPs. For alcohol intake GWAS, they included 462,346 European individuals and 9,851,867 SNPs.

Adiponectin is mainly used for adipokines, and its GWAS summary statistics were from the ADIPOGen Consortium. For adiponectin GWAS, they included 39,883 European individuals and 2,675,209 SNPs.

The GWAS summary statistics of type 2 diabetes include 61,714 cases and 1,178 controls. For Coronary heart disease, its GWAS included 194,427 participants. The GWAS summary statistics of hypertension were obtained from the MRC-IEU Consortium, including 462,933 European individuals and 9,851,867 SNPs. All data about exposure can be obtained in Table 1.

GWAS summary statistics of urolithiasis from MRC-IEU Consortium and UK biobank

We used the urolithiasis GWAS summary statistics from MRC-IEU Consortium (GWAS ID: ukb-b-8297). This GWAS consisted of 3,625 cases and 459,308 controls, and about 9,851,867 SNPs. In UKB, the GWAS was performed in 2,694 cases and 334,465 controls by Neale Lab (GWAS ID: ukb-a-72).

All of this data is free to download and can be used without restrictions.

MR process

The use of MR should follow the following principles: (1) IVs should be correlated with exposure. (2) the IVs are not associated with any potential confounders. (3) IVs are not related to outcome unless by the way of exposure. An overview of the MR study design is presented in Fig. 1. We included SNPs reaching GWAS ($p < 5 \times 10^{-8}$). Then, these SNPs were clumped based on the linkage disequilibrium ($r^2 < 0.001$, clump=10,000 kb). To calculate the potency of SNPs, we use the F statistics ($F = beta^2/se^2$) to calculate the general F statistic for all SNPs. SNPs were considered to have sufficient statistical power when their power was greater than 10 [17]. When assessing the causal relationship between exposures and urolithiasis, the MRC-IEU GWAS was initially used as the discovery set and UK biobank GWAS was the validation set, considering MRC-IEU has a relatively higher proportion of cases [18].

MR mainly used inverse variance-weighted (IVW), MR-Egger, and weighted-median three methods to

Exposure	Sample size	NSNP	F	GWAS ID
BMI	454,884	9,851,867	64.90	ukb-b-2303
Triglycerides	441,016	12,321,875	148.97	ieu-b-111
Adiponectin	39,883	2,675,209	88.94	ieu-a-l
Alcohol intake	462,346	9,851,867	52.92	ukb-b-5779
smoking	424,960	9,851,867	41.74	ukb-b-2134
LDL	440,546	12,321,875	172.13	ieu-b-110
HDL	187,167	2,447,442	120.05	ieu-a-299
Total cholesterol	187,365	2,446,982	141.84	ieu-a-301
Hypertension	462,933	9,851,867	63.50	ukb-b-14057
Coronary heart disease	194,427	79,129	66.01	ieu-a-9
Type 2 diabetes	655,666	5,030,727	75.51	ebi-a-GCST006867
Waist circumference	336,639	10,894,596	54.50	ukb-a-382
Hip circumference	336,601	10,894,596	57.81	ukb-a-388
Body fat	331,117	10,894,596	52.40	ukb-a-264

 Table 1
 Summary of risk factors. NSNP, number of single nucleotide polymorphisms. F, F statistics. GWAS, genome-Wide Association Study



Fig. 1 (A) The principles that Mendelian randomization should follow (B) An overview of data processing for articles. IV, instrumental variable

calculate the effect size of IVs. The Cochrane's Q value and MR-Egger intercept were used to detect heterogeneity and horizontal pleiotropy [19]. MR-Pleiotropy Residual Sum and Outlier methods (MR - PRESSO) were also used to detect outliers and correct horizontal pleiotropy [20]. Results with heterogeneity or horizontal pleiotropy were corrected by MR-PRESSO. The IVW model was the main method and the MR-Egger method was the complementary method. Finally, we performed a meta-analysis of the results from the two databases.

All statistical analyses and data visualization were executed by the R packages TwoSampleMR (version 0.5.6) and MRPRESSO (version 1.0) in R program 4.1.3(https:// www.r-project.org/).

Results

Discovery result of urolithiasis in MRC-IEU consortium

In the discovery phase, genetically predicted BMI, triglycerides, body fat percentage, alcohol intake, and adiponectin may be causally linked to urolithiasis. The odds of urolithiasis would increase per 1-SD increase of BMI (OR=1.0016, p=0.010), triglycerides (OR=1.0016, p=0.017), adiponectin (OR=1.0027, p=0.024), and body fat percentage (OR=1.008, p=0.047). In addition, alcohol intake could increase the incidence of urolithiasis (OR=1.0030, p=0.005). All data about results could be obtained in Fig. 2A.

Validation results of urolithiasis in UK biobank

In the UK biobank dataset, we successfully verified the MR results of body fat percentage (OR=1.0239, p=0.020). In addition, the odds of urolithiasis would increase per 1-SD increase in waist circumference (OR=1.0215, p=0.008). Surprisingly, we found that the risk of urolithiasis decreased with increasing hip circumference (OR=0.9954, p=0.017).

It should be noted that the effect sizes of the UK biobank were smaller than those of the MRC-IEU consortium, and we deemed that it might be due the low statistical power in the MRC-IEU consortium, as it had fewer cases. Therefore, we cannot successfully replicate many results. All data about results can be obtained in Fig. 2B. All raw results can be obtained in **Table 2**.

Combined result of urolithiasis from the meta-analysis

The meta-analysis of MR results confirmed that higher BMI (OR=1.0016, p=0.009), waist circumference (OR=1.0073, p=0.007), adiponectin (OR=1.0026, p=0.004), triglycerides (OR=1.0015, p=0.008) and body fat percentage (OR=1.0104, p=0.006) could increase the risk of urolithiasis. Furthermore, alcohol intake could also increase the incidence of urolithiasis (OR=1.0033, p=0.002). However, no association was found between

the hip circumference and urolithiasis. All data about results can be obtained in Fig. 3.

Overall, our MR study found that higher BMI, triglycerides, waist circumference, adiponectin, and body fat percentage were significant risk factors for urolithiasis. Additionally, the liability to alcohol intake could also increase the risk of it.

Discussion

To our knowledge, this is the first multivariate risk analysis study for urolithiasis using Mendelian randomization. Our MR study proved the conclusion that obesity was risk factor for urolithiasis, and ruled out the causal effect of smoking on urolithiasis, as reported by Yuan et el. [21] Furthermore, this study found that alcohol intake, triglycerides, adiponectin, and body fat percentage could increase the risk of urolithiasis.

BMI as an indicator of obesity has been reported to be causally associated with an increased risk of urolithiasis by some studies [21, 22], and this finding was further corroborated by our study. Another two indicators for general obesity, body fat percentage and waist circumference, could increase the risk of urolithiasis in our study as well [23, 24]. The mechanism whereby obesity increases the risk of urolithiasis formation is uncertain. Several potential mechanisms might explain the association between body fat and increased risk of urolithiasis. Obesity was associated with high serum uric acid and gout [25, 26], which could increase the production of urolithiasis. [27, 28]. Some studies also reported that obesity could increase urinary oxalate excretion [26] and reduce urinary citric acid excretion [29].

The relationship between blood lipids and urolithiasis has been unsettled for years. Our MR study found that higher triglycerides were associated with an increased risk of urolithiasis. The result was consistent with Besiroglu's research, which unveiled a proportional relationship between triglycerides and urolithiasis [10], and we revealed such an association was causal. At the same time, there was no association between HDL, LDL, and urolithiasis in this study, which was inconsistent with Kang's observational research [30].

Dyslipidemia is primarily associated with chronic inflammation and oxidative stress [31]. Davalos et al. suggested that oxidative stress appeared to be the main cytotoxic effect of calcium oxalate monohydrate, which could damage or kill kidney cells and ultimately lead to stone formation [32]. Tsujibata et al. showed that atorvastatin could help to inhibit renal tubular damage and oxidative stress caused by oxalate crystals, thereby helping to prevent and treat crystal formation [33]. These mechanisms also suggested a potential link between lipid metabolism disturbances and urinary stone formation. A

	MRC-IEU						
	Exposure	OR	95%LCI	95%UCI	Р		
	BMI	1.0016	1.0004	1.0029	0.010		He-1
	triglycerides	1.0016	1.0003	1.0029	0.017		
	Adiponectin	1.0027	1.0003	1.0050	0.024		
	Alcohol intake	1.0030	1.0009	1.0051	0.005		
	smoking	1.0005	0.9983	1.0027	0.644		H=-1
	LDL	0.9995	0.9971	1.0018	0.663		
	HDL	0.9991	0.9979	1.0003	0.126		⊢ =•
	Total cholesterol	1.0007	0.9995	1.0018	0.249		
	hypertension	1.0025	0.9983	1.0068	0.236		+
	Coronary heart disease	0.9998	0.9986	1.0010	0.747		+++
	Type 2 diabetes	1.0001	0.9994	1.0007	0.865		+
	Waist circumference	1.0054	0.9998	1.0111	0.060		
	Hip circumference	0.9995	0.9982	1.0009	0.479		+++
	Body fat	1.0081	1.0001	1.0161	0.047	_	
						0.99	1.00
3							
	Neale Lab						
	Exposure	OR	95%LCI	95%UCI	Р		
	BMI	1.0013	0.9981	1.0046	0.424		+
	trialvcerides	1.0012	0.9991	1.0033	0.272		+

0.9998

0.9996

0.9849

0.9922

0.9963

0.9989

0.9716

0.9963

0.9953

1.0061

0.9915

1.0043

1.0050

1.0203

1.0049

1.0016

1.0037

1.0030

1.0112

1.0054

1.0005

1.0372

0.9992

1.0440

0.073

0.059

0.311

0.207

0.992

0.370

0.386

0.710

0.108

0.008

0.020

Fig. 2 Forest plot of Mendelian randomization results. (A) Results derived from MRC-IEU consortium. (B) Results from the Neale Lab. OR, odds ratio; 95%LCI, lower limit of 95% CI; 95%UCI, upper limit of 95% CI

1 0024

1.0099

0.9948

0.9969

1.0000

1.0009

0.9912

1.0009

0.9979

1.0215

0.9954

1.0239

Adiponectin has antiatherosclerotic, renoprotective, anti-inflammatory, and antioxidative functions [34]. Previous studies suggested that lower adiponectin levels could contribute to the formation of urolithiasis, and such an effect might be mediated by the progression of oxidation and inflammation [35]. However, another study came to a different conclusion [36]. Devasia et al. suggested that elevated adiponectin levels in patients with urolithiasis might be a compensation [36]. This MR study suggested that higher adiponectin levels might increase the risk of urolithiasis. Although definitive conclusions were hard to be drawn due to the different sizes of the MRC-IEU Consortium and Neale Lab, the possibility of

Adiponectin

smoking LDL

HDL

Alcohol intake

Total cholesterol

Type 2 diabetes

Waist circumference

Hip circumference

Coronary heart disease

hypertension

Body fat

false-positive and reverse causation should be low in our study because of the application of a strict IV selection procedure. In the meantime, the MRC-IEU was consistent with the meta-analysis results, so our results were plausible. Certainly, future studies are needed to confirm the role of adiponectin in the disease.

At present, there are few studies on the effect of alcohol intake on urinary tract stones. There were different opinions on the relationship between alcohol intake and urolithiasis. Fellstrom et al. suggested that alcohol intake could increase the risk of renal stones [37], and this was corroborated in our study. However, another study indicated that alcohol intake was a protective factor against

MRC-IEU consortium								
Exposure	SNPS	Methods	0 R	95%LC I	95%UCI	<i>p</i> −value	H e terog en e ity	Pleiotropy
BM I	374	M R Egger	1.0025	0.9988	1.0061	0.185	0.008	0.640
		W eighted m ed ian	1.0011	0.9990	1.0031	0.286		
		N/W	1.0016	1.0004	1.0029	0.010		
Triglycerides	201	M R Egger	1.0013	0.9990	1.0035	0.280	< 0.001	0.587
		W eighted m ed ian	1.0015	0.9992	1.0037	0.204		
		N W	1.0016	1.0003	1.0029	0.017		
Adiponectin	11	M R Egger	0.9996	0.9953	1.0040	0.865	0.940	0.138
		W eighted m edian	1.0020	0.9992	1.0049	0.166		
		N W	1.0027	1.0003	1.0050	0.024		
Drinking	83	M R Egger	1.0049	0.9968	1.0132	0.238	0.121	0.634
0		Weighted median	1.0032	1.0001	1.0062	0.042		
		NW	1.0030	1.0009	1.0051	0.005		
Smoking	87	M R Egger	1.0034	0.9930	1.0139	0.524	0.986	0.581
		Weighted median	1.0006	1.0006	1.0037	0.722		
		NW.	1.0005	0.9983	1.0027	0.644		
IDI	108	M R Egger	0.9995	0.9971	1.0018	0.663	0.007	0.150
60.0	100	Weighted median	1.0007	0.9985	1.0030	0.513	0.001	0.100
		NW	1.0008	0.9993	1.0022	0.290		
HDI	73	M P Eggor	0.0001	0.0060	1.0013	0.435	0.005	0.788
IIDE	15	W oith tod m od inn	0.0095	0.0069	1.0013	0.009	0.005	0.100
		w eignied in edian	0.9965	0.9900	1.0003	0.096		
T (]]] ()	<u>co</u>	M D P	0.9991	0.9979	1.0003	0.126	0.040	0.100
lotalcho lestero l	68	M R Egger	0.9997	0.9974	1.0019	0.769	0.040	0.189
		w eighted miedian	1.0004	0.9987	1.0022	0.631		
	100	IV ₩	1.0007	0.9995	1.0018	0.249	0.001	0.505
11 yp erten sion	183	M K Egger	1.0028	0.9897	1.0160	0.678	0.001	0.797
		₩ eighted m ed ian	1.0044	0.9984	1.0105	0.150		
		IV W	1.0025	0.9983	1.0068	0.236		
Coronary heart disease	10	M R Egger	0.9989	0.9957	1.0022	0.538	0.519	0.588
		W eighted m ed ian	0.9998	0.9982	1.0014	0.780		
		IN W	0.9998	0.9986	1.0010	0.747		
Type 2 diabetes	106	M R Egger	1.0001	0.9986	1.0016	0.920	0.002	0.977
		W eighted m edian	1.0001	0.9990	1.0011	0.889		
		IV W	1.0001	0.9994	1.0007	0.865		
W aist circum ference	203	M R Egger	1.0054	0.9998	1.0111	0.060	0.025	0.028
a deteriodali lotentee	500	Weighted median	1.0009	0.9984	1.0034	0.492	01020	01020
		NW	1.0005	0.9988	1.0022	0.540		
H ip circum ference	944	M P Fagor	1.0005	0.0009	1.0022	0.947	0.002	0.002
	244	W nigger	1.0020	0.9902	1.0009	0.490	0.003	0.055
		w eightea in ea an	0.0007	0.9987	1.0028	0.469		
	0.05	NW	0.9995	0.9982	1.0009	0.479	10.001	0.045
Body lat	225	MKEgger	1.0081	1.0001	1.0161	0.047	< 0.001	0.047
		W eighted m edian	1.0004	0.9977	1.0031	0.770		
		NW	1.0007	0.9987	1.0028	0.496		
Neale Lab								
BM I	127	M R Egger	1.0032	0.9979	1.0085	0.240		
		W eighted m ed ian	1.0022	0.9977	1.0067	0.346		
		N W	1.0013	0.9981	1.0046	0.424	0.999	0.384
Triv lyceritles	71	M R Egger	1.0011	0.9985	1.0037	0.398		
		Weighted median	1.0010	0.9988	1.0032	0.390		
		WW	1.0012	0.9991	1.0033	0.272	0.999	0.921
Adiponestin	4	M P Eggor	1.0040	0.0008	1.0033	0.212	0.555	0.521
Au ponecun	.1	W wish tool as a dista	1.0094	0.0008	1.0050	0.200		
		w eignied in edian	1.0024	0.9990	1.0050	0.070	0.016	0.495
N 111	0.1	N N D D	1.0024	0.9998	1.0050	0.073	0.810	0.455
Drinking	31	M K Egger	0.9804	0.9381	1.0247	0.387		
		W eighted m edian	1.0077	0.9911	1.0212	0.259		
		IV W	1.0099	0.9996	1.0203	0.059	0.999	0.187
Smoking	23	M R Egger	0.9846	0.9529	1.0174	0.364		
		W eighted m ed ian	0.9897	0.9764	1.0032	0.134		
		IV ₩	0.9948	0.9849	1.0049	0.311	0.942	0.524
LD L	39	M R Egger	0.9969	0.9922	1.0016	0.207		
		W eighted m ed ian	0.9987	0.9947	1.0028	0.539		
		IN W	1.0006	0.9970	1.0042	0.754	0.982	0.023
II D L	26	M R Egger	0.9936	0.9850	1.0024	0.166		
		W eighted m edian	1.0006	0.9957	1.0055	0.811		
		IV W	1.0000	0.9963	1.0037	0.992	0.995	0.128
To tal cho lestero l	29	M R Egger	1.0015	0.9975	1.0054	0.470	-	
To arreno restero r	-	W eighted m ed ian	1.0003	0.9976	1.0030	0.810		
		NW	1.0009	0.9989	1.0030	0.370	0.999	0.756
Hypertension	63	M.R.Egger	1.0842	0 9777	1 2024	0.131		
Hypertension		Weighted median	0.9973	0.9675	1.0280	0.862		
		NW	0.9019	0.9716	1.0200	0.386	0.999	0.088
Company heart direase	5	M R Fagor	1.0009	0.8064	1 1 2 6 2	0.880	0.000	0.000
coronary mean of sease	5	w nin nggur	1.0092	0.0904	1,1303	0.009		
		a ciRuna mica su	1,0000	0.9904	1.0000	0.030	0.011	0.000
T	40	W W M D E	0.0009	0.9963	1.0004	0.200	0.911	0.033
Type 2 diabetes	40	MKEgger	0.9967	0.9892	1.0042	0.392		
		₩ eighted m ed ian	1.0022	0.9980	1.0063	0.305	0.000	0.505
		N W	0.9979	0.9953	1.0005	0.108	0.929	0.737
Waistcircum ference	71	M R Egger	1.0215	1.0061	1.0372	0.008		
		₩ eighted m ed ian	1.0082	0.9996	1.0168	0.061		
		IV W	1.0040	0.9981	1.0099	0.189	0.999	0.018
H ip circum ference	88	M R Egger	0.9887	0.9781	0.9994	0.042		
		W eighted m ed ian	0.9959	0.9902	1.0016	0.158		
		IV W	0.9954	0.9915	0.9992	0.017	0.999	0.196
Body fat	73	M R Egger	1.0239	1.0043	1.0440	0.020		
		Weighted median	1.0116	1.0018	1.0215	0.020		
		NW	1.0062	0.9996	1.0129	0.067	0.995	0.065

 Table 2
 Mendelian randomization results

Exposure	OR	95%LCI	95%UCI	Ρ	
Alcohol intake	1.0033	1.0012	1.0053	0.002	⊢ ∎-1
Adiponectin	1.0026	1.0008	1.0043	0.004	H#H
Body fat	1.0104	1.0030	1.0178	0.006	·•
BMI	1.0016	1.0004	1.0027	0.009	
Waist circumference	1.0073	1.0020	1.0126	0.007	⊢ •−−1
Triglycerides	1.0015	1.0004	1.0026	0.008	
Total cholesterol	1.0007	0.9997	1.0018	0.144	-
HDL-C	0.9992	0.9980	1.0003	0.162	+ - 1
LDL-C	0.9990	0.9969	1.0011	0.343	⊢ ∎ 1
Hypertension	1.0020	0.9979	1.0062	0.343	⊢ ∎(
Hip circumference	0.9979	0.9939	1.0018	0.288	⊢ ∎∔(
Type 2 diabetes	1.0000	0.9993	1.0006	0.928	+
Smoking	1.0002	0.9981	1.0024	0.827	++
Coronary heart disease	0.9999	0.9987	1.0010	0.828	0.98 1 1.0

Fig. 3 Forest plot of results from meta-analysis. OR, odds ratio; 95%LCl, lower limit of 95% Cl; 95%UCl, upper limit of 95% Cl

kidney stones [9]. But it seemed unreasonable to treat alcohol intake as just fluid intake, after all, the effects of alcohol on the human body were diverse. This MR study suggested that alcohol intake could increase the risk of urolithiasis. The underlying mechanism might be urine concentration, increased uric acid, increased urinary calcium excretion, and decreased urinary magnesium excretion after alcohol intake [38, 39].

Hypertension, coronary heart disease, and diabetes are growing global public health problems. The relationship between the above three diseases and urolithiasis has been controversial. Hoffman et al. thought that hypertension might increase the risk of urolithiasis formation [40]. The results of a Mendelian randomization study indicated that coronary heart disease could not increase the incidence of urolithiasis [41]. The results of Ahmed et al. concluded that diabetes was an important factor in increasing urolithiasis [42]. However, our MR suggested no causal association between hypertension, coronary heart disease, diabetes, and urolithiasis.

Overall, this study found that alcohol intake, triglycerides, adiponectin, and body fat percentage were risk factors for urolithiasis. However, other factors could not increase the risk of urolithiasis, such as hypertension, coronary artery disease, diabetes, smoking, total cholesterol, LDL-C, HDL-C, and hip circumference. The main significance of this study is that we can reduce the acquisition of the above risk factors and thus achieve the prevention of urolithiasis. Our study has several major strengths. First, MR studies can effectively avoid confounding bias and reverse causality. Many methods increased the robustness of our conclusion. Second, we included some factors that were not investigated in the before studies. Third, this study comprised three parts, including discovery, validation, and meta-analysis sections, adding much more confidence to our research.

However, this MR study has some limitations that need to be noted. The biggest concern is pleiotropy during MR procedures. Therefore, we used two main methods to detect pleiotropy, including the MR-Egger intercept and MR-PRESSO, hoping to minimize the resulting bias. In addition, the small sample size of the UK biobank may lead to a reduction in statistical power to detect true causality. For example, we observed that higher BMI, triglycerides, adiponectin, body fat percentage, and alcohol intake can lead to an increased risk of urolithiasis, while such causation did not hold in the UK biobank. We need another data set to verify the effect of the above risk factors on urolithiasis in future research.

Conclusions

Our MR study found that higher BMI, triglycerides, waist circumference, adiponectin, body fat percentage, and alcohol intake increased the risk of urolithiasis.

Abbreviations

BMI	Body mass index
MR	Mendelian randomization
GWAS	Genome-wide association study

- IVs Instrumental variables
- SNPs Single nucleotide polymorphisms
- HDL High-density lipoprotein cholesterol
- LDL Low-density lipoprotein cholesterol
- IVW Inverse variance weighted

Acknowledgements

The authors thank all investigators and participants from the open GWAS summary datasets. We also thank all investigators for contributing to the risk factors.

Author' contributions

Mingming Shao contributed to the conception and design; Shusheng Zhu contributed to the drafting of the manuscript; Shusheng Zhu and Yanpeng Fan contributed equally to this work. Xia Hu contributed to the acquisition, analysis, and interpretation of data.

Funding

This research was funded by the Sailing Project, Scientific Research Foundation of Jining No.1 People's Hospital (2022-QHM-016).

Availability of data and materials

The datasets analyzed during the current study are available in the open gwas repository (https://gwas.mrcieu.ac.uk/). The GWAS ID of the risk factors can be found in Table 1.

Declarations

Ethical approval and consent to participate

The summary statistics are publicly downloadable on the website. All of these data are de-identified, freely downloadable, and can be used without restriction. Due to such a re-analysis of previously collected and published data, no additional ethics approval was needed.

Competing interests

The authors declare that they have no competing interests.

Consent for publication

Not applicable.

Received: 23 July 2022 / Accepted: 12 April 2023 Published online: 28 April 2023

References

- Liu Y, Chen Y, Liao B, et al. Epidemiology of urolithiasis in Asia. Asian J Urol. 2018;5(4):205–14. https://doi.org/10.1016/j.ajur.2018.08.007.
- Arias Funez F, Garcia Cuerpo E, Lovaco Castellanos F, et al. [Epidemiology of urinary lithiasis in our unit. Clinical course in time and predictive factors]. Arch Esp Urol. 2000;53(4):343–7.
- Stamatelou KK, Francis ME, Jones CA et al. Time trends in reported prevalence of kidney stones in the United States: 1976–1994. Kidney Int.2003;63(5):1817– 1823. doi:https://doi.org/10.1046/j.1523-1755.2003.00917.x.
- Trinchieri A, Croppi E, Montanari E. Obesity and urolithiasis: evidence of regional influences. Urolithiasis.2017;45(3):271–278. doi:https://doi. org/10.1007/s00240-016-0908-3.
- Besiroglu H, Otunctemur A, Ozbek E. The metabolic syndrome and urolithiasis: a systematic review and meta-analysis. Ren Fail. 2015;37(1):1–6. https:// doi.org/10.3109/0886022X.2014.976133.
- Liu CC, Huang SP, Wu WJ, et al. The impact of cigarette smoking, alcohol drinking and betel quid chewing on the risk of calcium urolithiasis. Ann Epidemiol. 2009;19(8):539–45. https://doi.org/10.1016/j.annepidem.2009.02.006.
- Detsyk O, Solomchak D. The impact of cigarette smoking, alcohol drinking and physical inactivity on the risk of urolithiasis occurrence and recurrence. Wiad Lek. 2017;70(1):38–42.
- Wang X, Xu X, Wu J, et al. Systematic review and meta-analysis of the effect of alcohol intake on the risk of urolithiasis including dose-response relationship. Urol Int. 2015;94(2):194–204. https://doi.org/10.1159/000365358.

- Wang H, Fan J, Yu C, et al. Consumption of tea, Alcohol, and fruits and risk of kidney Stones: a prospective cohort study in 0.5. Million Chin Adults Nutrients. 2021;13(4). https://doi.org/10.3390/nu13041119.
- Besiroglu H, Ozbek E. Association between blood lipid profile and urolithiasis: a systematic review and meta-analysis of observational studies. Int J Urol. 2019;26(1):7–17. https://doi.org/10.1111/iju.13781.
- Trinchieri A. Body fatness, diabetes, physical activity and risk of kidney stones: a systematic review and meta-analysis of cohort studies. Eur J Epidemiol. 2019;34(12):1175–6. https://doi.org/10.1007/s10654-019-00557-8.
- Smith GD, Ebrahim S. Mendelian randomization': can genetic epidemiology contribute to understanding environmental determinants of disease?Int. J Epidemiol. 2003;32(1):1–22. https://doi.org/10.1093/ije/dyg070.
- Smith GD, Ebrahim S. Mendelian randomization: prospects, potentials, and limitations. Int J Epidemiol. 2004;33(1):30–42. https://doi.org/10.1093/ije/ dyh132.
- Davey Smith G, Hemani G. Mendelian randomization: genetic anchors for causal inference in epidemiological studies. Hum Mol Genet. 2014;23(R1):R89–98. https://doi.org/10.1093/hmg/ddu328.
- Lyon MS, Andrews SJ, Elsworth B, et al. The variant call format provides efficient and robust storage of GWAS summary statistics. Genome Biol. 2021;22(1):32. https://doi.org/10.1186/s13059-020-02248-0.
- Hemani G, Zheng J, Elsworth B et al. The MR-Base platform supports systematic causal inference across the human phenome. Elife. 2018;7. doi:https:// doi.org/10.7554/eLife.34408.
- Pierce BL, Ahsan H, Vanderweele TJ. Power and instrument strength requirements for mendelian randomization studies using multiple genetic variants. Int J Epidemiol. 2011;40(3):740–52. https://doi.org/10.1093/ije/dyg151.
- Chen L, Yang H, Li H et al. Insights into modifiable risk factors of cholelithiasis: A Mendelian randomization study. Hepatology. 2022;75(4):785–796. doi:https://doi.org/10.1002/hep.32183.
- Burgess S, Thompson SG. Interpreting findings from mendelian randomization using the MR-Egger method. Eur J Epidemiol. 2017;32(5):377–89. https:// doi.org/10.1007/s10654-017-0255-x.
- Verbanck M, Chen CY, Neale B, et al. Detection of widespread horizontal pleiotropy in causal relationships inferred from mendelian randomization between complex traits and diseases. Nat Genet. 2018;50(5):693–8. https:// doi.org/10.1038/s41588-018-0099-7.
- Yuan S, Larsson SC. Assessing causal associations of obesity and diabetes with kidney stones using mendelian randomization analysis. Mol Genet Metab. 2021;134(1–2):212–5. https://doi.org/10.1016/j.ymgme.2021.08.010.
- Feng X, Wu W, Zhao F, et al. Data J Ren Nutr. 2021;31(3):263–9. https://doi. org/10.1053/j.jrn.2020.05.003. Relationship Between Body Mass Index and Kidney Stones Based on Dose-Response Analyses Using Restricted Cubic Splines Applied to NHANES 2011–2016.
- Aune D, Mahamat-Saleh Y, Norat T, et al. Body fatness, diabetes, physical activity and risk of kidney stones: a systematic review and meta-analysis of cohort studies. Eur J Epidemiol. 2018;33(11):1033–47. https://doi.org/10.1007/ s10654-018-0426-4.
- Wang H, Fan JN, Yu CQ, et al. [Associations of body mass index and waist circumference with hospitalization risk of kidney stones in chinese adults]. Zhonghua Liu Xing Bing Xue Za Zhi. 2022;43(2):154–61. https://doi. org/10.3760/cma.j.cn112338-20210311-00201.
- Aune D, Norat T, Vatten LJ. Body mass index and the risk of gout: a systematic review and dose-response meta-analysis of prospective studies. Eur J Nutr. 2014;53(8):1591–601. https://doi.org/10.1007/s00394-014-0766-0.
- 26. Taylor EN, Curhan GC. Body size and 24-hour urine composition.Am. J Kidney Dis. 2006;48(6):905–15. https://doi.org/10.1053/j.ajkd.2006.09.004.
- Kim S, Chang Y, Yun KE, et al. Development of Nephrolithiasis in Asymptomatic Hyperuricemia: a Cohort Study. Am J Kidney Dis. 2017;70(2):173–81. https://doi.org/10.1053/j.ajkd.2017.01.053.
- Kramer HJ, Choi HK, Atkinson K, et al. The association between gout and nephrolithiasis in men: the Health Professionals' Follow-Up study. Kidney Int. 2003;64(3):1022–6. https://doi.org/10.1046/j.1523-1755.2003.t01-2-00171.x.
- Mandel El, Taylor EN, Curhan GC. Dietary and lifestyle factors and medical conditions associated with urinary citrate excretion. Clin J Am Soc Nephrol. 2013;8(6):901–8. https://doi.org/10.2215/CJN.07190712.
- Kang HW, Lee SK, Kim WT, et al. Hypertriglyceridemia and low high-density lipoprotein cholesterolemia are associated with increased hazard for urolithiasis. J Endourol. 2014;28(8):1001–5. https://doi.org/10.1089/end.2014.0135.
- Ozbek E. Induction of oxidative stress in kidney. Int J Nephrol. 2012;2012:465897. https://doi.org/10.1155/2012/465897.

- Tsujihata M, Momohara C, Yoshioka I, et al. Atorvastatin inhibits renal crystal retention in a rat stone forming model. J Urol. 2008;180(5):2212–7. https:// doi.org/10.1016/j.juro.2008.07.024.
- Lihn AS, Ostergard T, Nyholm B, et al. Adiponectin expression in adipose tissue is reduced in first-degree relatives of type 2 diabetic patients. Am J Physiol Endocrinol Metab. 2003;284(2):E443–448. https://doi.org/10.1152/ ajpendo.00358.2002.
- Fujii Y, Okada A, Yasui T, et al. Effect of adiponectin on kidney crystal formation in metabolic syndrome model mice via inhibition of inflammation and apoptosis. PLoS ONE. 2013;8(4):e61343. https://doi.org/10.1371/journal. pone.0061343.
- Devasia D, Meiyappan K, Mohanraj PS, et al. Association between adiponectin and insulin resistance in Diabetic Urolithiasis. Oman Med J. 2017;32(2):131–4. https://doi.org/10.5001/omj.2017.23.
- 37. Fellstrom B, Danielson BG, Karlstrom B, et al. Dietary habits in renal stone patients compared with healthy subjects. Br J Urol. 1989;63(6):575–80. https://doi.org/10.1111/j.1464-410x.1989.tb05248.x.

- de Lorimier AA. Alcohol, wine, and health., Am J. Surg. 2000;180(5):357–361. doi:https://doi.org/10.1016/s0002-9610(00)00486-4.
- Liu CC, Wu CF, Chen BH, et al. Low exposure to melamine increases the risk of urolithiasis in adults. Kidney Int. 2011;80(7):746–52. https://doi.org/10.1038/ ki.2011.154.
- 40. Hoffman A, Braun MM, Khayat MKidney, Disease. Kidney Stones FP Essent. 2021;509:33–8.
- Zhao Y, Fan Y, Wang M, et al. Kidney stone disease and cardiovascular events: a study on bidirectional causality based on mendelian randomization. Transl Androl Urol. 2021;10(12):4344–52. https://doi.org/10.21037/tau-21-899.
- 42. Ahmed MH, Ahmed HT, Khalil AA. Renal stone disease and obesity: what is important for urologists and nephrologists? Ren Fail. 2012;34(10):1348–1354. doi:https://doi.org/10.3109/0886022X.2012.723777.

Publisher's Note

Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.